UNERIEIE R S e

(g% 2 7 4FJE)

O —BBEEM RN Y (DEEM) R KA fEE
T B "Zé:’\ BT %J!Eﬁ% 4R178|58158| 6A9H [7A218| 8870 | 9A8H [1086A|11A108(12A18| 1A58 | 2H28 | 3818
K R - - 10:10] 10:00| 10:27| 9:55 | 9:55 | 9:16 | 9:40 | 9:22 | 9:20 | 9:19 | 9:20 | 9:20
KR C 17.1 |22.1 [23.7 |26.9 [30.2 [28.0 |25.0 [23.0 [20.0 |10.0 [10.0 |12.1
PH pH [|5.88.60 7.7 | 7.6 (7.7 |75 |74 (7.5 |73 |73 (7.6 |71 |74 [8.1
BOD mg/0 60 1.0 0.6 2.1 0.6 0.5 | <0.5] 1.3 1.0 0.9 0.9 4.8 3.6
COD mg/ 0 90 3.5 4.8 |59 [49 |57 |48 [47 |41 |40 [1.2 20 | 6.1
S S mg/0 60 <1 <1 1 <1 2 1 2 <1 1 <1 <1 3
KIGHEREK fil/cit [ (3,000)] <30 | <30 | <30 | <30 | <30 | <30 | <30 | <30 [ <30 | <30 | <30 [ <30
EFREA= meg/0 |120(60)] 0.6 | 1.0 [0.7 | 1.2 [0.8 [0.9 | 1.0 [0.7 [0.8 |1.6 |0.6 [0.8
TroE=THESR | neg/0 * 0.2 0.1 | <0101 [o1 o1 o1 [o01 |<o.1|[11 |<0.1]¢<01
BRI LROEOLEY| me/0 0. 03 — — |<0.005| — — — — — |<o.005| — — —
T AREY mg/ 0 1 — — [<.1| — — — — — |<0.1| — — —
Y ALEW mg/0 1 — — <1 | - — — — — <1 | - — -
SR OEDILEY | me/0 | 0.1 - — |<002| — — — — — <02 — — —
N7 2 2MEEY | me/e 0.5 — — | «<0.04| — - — — — | <0.0a| — — —
Wl e ZROZOLEW| mg/0 | 0.1 — — |wol| — — — — — || — — —
FRIKER me/0 | 0.005 | — — |<.0005| — — — — — |<0.0005| — — —
TV KRGS me/0 nd — — |<0.0005] — — — — — |<o.0005] — — —
PCB mg/0 | 0.003 — — |<0.0005| — — — — — |<0.0005| — — —
g at | me/0 30 — — 0.5 — — — — — 0.5 — — —
7 x /) —)VAEHAE| me/l 5 — — |<.025| — — — — — J<.025| — — —
EA & mg/0 3 - — |<.01| — — — — — |<.01| — — —
Hh o A = mg/0 2 — — Jo.o4 | — — - - — lo.02 | — - —
B WIRYESR B A i mg/0 10 — — |01 | - - — - — |<.1| — - -
Wi~ o W oG R me/0 10 — — | <.1| — — — — — [ <1 | — — —
VA=PN=YE -, me/0 2 — — |<.o0a| — — — — — |<.04| — — —
SoZMOLOILEY| me/0 8 — — 0.1 — — — — — 0.1 — — —
VU EHE mg/0 | 16(8) | — — |o0.04 | — — — — — |o0.01 — — —
Ky ZvexF L] mg/o 0.3 — — | <0.002| — — — — — — — — —
FhSr7oe=FLr | mg/0 0.1 — — <0. 001 — — — — — — — - -
vruana AR mg/0 0.2 — — | <.02| — — — — — — — — —
VOt kiR = mg/0 | 0.02 — — | <002 — — — — — — — — —
KN.o—Yr7vuxz | ng/o 0. 04 — — | <o.004| — - — - - - — — —
l.1-=YZ7wvmxFLro| mg/d 1 — — <0. 02 — — — — — — — — —
vAx-1.2-vsunxFro| mg/d 0.4 — — <0. 04 — — — — — — — — —
Ll1—RrY2Zmmrxz| mg/l 3 — — <0. 001 — — — — — — — — -
L1.2— kY smaxr| mg/l 0. 06 — — | <0006 | — — — — — — — — —
1.3—Y 77| mg/d 0. 02 — — | <o.002| — — — — — — — — —
F T A me/0 | 0.06 — — | <0006 — — — — — — — — —
D4 mg/0 | 0.03 — — | <003 | — — — — — — — — —
F AR HNT mg/0 0.2 — — | <0.02| — — — — — — — — —
N ¥ mg/0 0.1 — — <0.01 — — — — — — — — —
B LUK OZEDILEY| mg/l 0.1 — — | <0.01 — — — — — — - - —
AR - AR LA [ me/0 * — - 0.2 — — — - — — — — —
15 FMOZEOAEY| me/0 10 — — <1 — — — — — — — — —
1.4— A FH mg/0 0.5 — — | <05 — — — — — — — — —
HA T 8 Pg-TEQ/0 10 — —  o.000051 | — — — — — — — — —
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X4 N .

IEE HAT [st#em]4B238(58158|6A16RA| 7888 | 8A5H |9A18A(10A158|11A118(12A9A(1A13H|2A108| 3A4H
Kl C | — |17.6|19.8 [17.5 |17.0 [17.4 [23.5 |17.2 [16.6 |15.9 |13.0 [16.2 |16.5
ERImE R ms/m| — | 49 42 47 46 48 35 48 51 48 44 54 51
e A A mg/0 | — | 13 14 12 9 16 12 13 13 13 12 13 14
T L L KER mg/0 [ nd — — |<0.0005] — - - - - - — — —
KSR mg/0 |o.0005 | — — |<0.0005| — — — — — — — — —
BRI TA mg/0 |0.003] — — |<0.0003] — — — — — — — — —
b mg/0 |0.01] — — | <0.005| — - — — — — _ — _
Y= mg/0 | 0.05] — — |<.01| — - - - — - - - —
=== mg/0 [0.01] — — | <0005 | — — — — — - — _ _
BTV mg/0| nd | — — |<0.1| — — — — — — - — —
PCB mg/0 | nd — — |<0.0005| — — — — — — — — -
N)Zvooxzg1L mg/0 |0.03] — — | <0001 | — — — — — — — — —
ThZ7unxzFLv mg/0 |0.01] — — |<0.0005| — — — - — — — — —
D/A=2=1 % mg/0 [0.02] — — | <0002 — - - - — — — — —
MRk R 3% mg/0 [0.002] — — |<0.0002[ — — — — - - - - —
l.2—Y7nmnxi mg/0 0.004] — — |<0.0004] — - — - — — — — —
LL1-YZ7uer=FL> |mg/t|o01] — — | <0002 [ — - - - — - - - —
L.2—YZ7uvuxxF Ly [mg/e|0.04] — — | <0.004| — — — — — — — — —
1.I.1—= U Zuoumo=x=Z> | mg/e| 1.0 — — | <0.0005| — — — — — — — — —
I.1.2— hUZoua=x &> ng/0 [0.006] — — |<o.0006| — — — — - — — — —
1.3—yr7murr~r | mg/oo.002] — — |<0.0002] — — — — — — — — —
FUT A mg/0 [0.006] — — |<0.0006| — — — - — — — _ _
D4 mg/0 |0.003] — — |<0.0003[ — — — — - — — — -
FARINT mg/0 | 0.02) — — |<wo02| — — — — — — — — —
_¥ mg/0 | 0.01) — — | <001 | — - — - - - — — —
LV mg/0 |0.01] — — | <0002 — — — — — — — — —
1. 4—TFFH mg/0 [ 0.05] — — | <005 | — — — — — — — — -
Bt e = LF ) ~— meg/0 |0.002] — — |<0.0002] — — — — — — — — —
BAF% L M ol = = fooo| = | = = |- -|~-|-| -]~
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I/E:E IZ:éj\ HAT [ues]4A238(5A15H|6A168| 7A8A | 8A5H |9A18A(10A158|11A118(12A9A(1A13H|2A108| 3A4H
KR T — 19.7121.9 120.3 [18.6 [22.0 [22.3 ]20.7 |19.5 [16.8 [16.2 |15.5 |15.9
ERURE R ms/m| — | 41 | 56 | 51 | 43 | 130 [ 39 | 76 | 130 | 100 | 100 | 69 | 68
HeA A me/0| — | 19 | 48 22 18 [300 [ 28 | 110 |28 |210 [ 190 [ 96 | 100
TV FILKER mg/0 | nd | — — |<0.0005] — — — - — — _ _ _
Hak R mg/0 [o.0005 ] — — [<0.0005] — — — — — — — - -
RIT A mg/0 0.003] — — |<0.0003| — — — - — — — _ _
£ mg/0 |0.01] — — | <0.005| — — — — - _ _ _ _
AN 7= VN mg/0 [0.05] — — |«wo| — — — - — — _ _ _
=5 mg/0 | 0.01] — — | <005 | — — — — — — _ _ _
BTV mg/0 [ nd — — 0.1 — — — — - _ _ _ _
PCB meg/0 | nd - — |<0.0005] — — - — — — — — _
[NV ===ty ol PV mg/0 | 0.03] — — | <001 | — — — — - — — — _
ThI77unxF L mg/0 | 0.01] — — |<0.0005| — — — — — — — _ _
A== mg/0 | 0.02) — — |<wo0z| — — — — — — _ _ _
WAy mg/0 |0.002) — — |<0.0002| — — — — — — _ _ _
L2—vY/muaxiyy mg/0 [0.004] — — <0004 — — — - _ — _ _ _
1.1—YZ7umxFLy mg/0 | 0.1 - — | <0.002| — — - — _ _ _ _ _
l.2—Y7mrxF L |mg/t|0.04] — — | <0004 [ — — — — - — - _ _
LI.L1=- Ry Zumamrx=Z> | m/t| 1L.0] — — |<0.0005| — — — - _ — _ _ _
l.1.2— FUZ7mmx X mg/b [0.006] — — |<0.0006[ — — — — - — — — -
1.3—v7rurm~y mg/0 [0.002] — — |<0.0002] — — — - — — — _ _
FU T L mg/0 |0. 006 — — |<0.0006] — — — - — — _ _ _
DV mg/0 |0.003] — — |<0.0003[ — — — — — — — — _
FARINT mg/0 | 0.02] — — | <002 — - - - - - - - -
N mg/0 [0.01] — — | <0001 | — — — - — — — _ _
LV mg/0 |0.01] — — | <0002 | — - — — — — — — —
1. 4= X% mg/0 | 0.05) — — | <005 | — — — — - — _ _ _
Bilhe=1r%t/~v— mg/0 |0.002) — — |<0.0002] — — — - — — _ _ _
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